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87. 3 106. There answers are listed below.
89. 8 adults i

90. 8 3 .

91. 24 3 1

92. 4 ! 3

93. 27 i ’

94. 7 107.12-8 =4

95. 3 108. zoo, 3 years longer

96. 17 109.12 =6 +d]

97. 30 110.20 =10 + 10

98. 19 10=5+

99. 16 111.8

100.19 112. The height is 4 inches longer than its tail.
101.13-5=8 113.12=6+6

102.4 +4 =38 114.25 + 15+ 5 =45
103.16-7=9 115.50 - 10 = 40

104.5+5=10 116.5+8 =13

105.23-14=9 117.30 + 30 + 30 = 90

118.14 + 28 = 42
119.5+ 6 + 3 + 8 = 22 leavey|

120. Tag, scarf
Spot, hat
Barney, coat
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